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. The man has a weight #¥ and stands at the center of the plank. If the planes at A and B are smooth,

determine the tension in the cord in terms of ¥ and € . (25%)

2. For the following uniform semi-circular ring with its inside diameter R, and outside diameter Ry, find its

center of gravity. (25%)
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3. The ball of a 2-iu: pendulum describes an arc of a circular in a vertical
plane. If the tension in the cord is 2.5 times of the weight of the ball for
the position shown, find the velocity and acceleration of the ball in that

position. (25 %)

________

4. When the linkage passes through the position shown with CB horizontal

and OA vertical, the angular velocity of CB is 2 rad/s counterclockwise
(@p =2k ). For the instant, determine the angular velocities of OA and

AB. (25%)
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